106 R P e

4 |55 % —_ O
(TENHBEERTIE)
ENE A L
— A MAR T AR BT A ARER WA A AR R 2 RIS 3
2T P ARLZRAEAHREP-(259)
que= 1.3¢'N +0p N, +0.4yBN,
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7 1-Jte }yDs =q = 0.6(19-9.81) = 5.514 kPa

Qpe =1.3¢N_ +q(N, —1)+ 0.4ByN,
=1.3x10x37.2+5.514x21.5+0.4x1.5%(19-9.81) x20.1 =712.98 kPa

T JT0a = Onet / FS = 712.98 / 3 = 237.66 kPa

P =g, B?=237.66x1.5% = 534.74 kN
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o’y = 18.5x5+15(20-9.81) + 10(23-9.81) = 374.75 kPa

o’y =415 - (30-5)(9.81) = 169.75 kPa

Ko =6’y /6’y = 169.75/ 374.75 = 0.453
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akE (%) 128 | 145 |156 [168 |192
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/@i%ﬁlé“{m =Wn/V
FZ BT ya= ym /(14W)
FH B ] OMC = 15.2% Yg max’=18.1 kKN/m®
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I = 2Rtk - S EE

W 12.8% 14.5% 15.6% 16.8% 19.2%
Y (tf/m°) 2.01 2.092 2.114 2.1 2.055
v4 (tF/m) 1.782 1.827 1.829 1.798 1.724
4 (KN/m?) 17.48 17.92 17.94 17.64 16.91
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ﬂ 800 kN

4m Medmum Clay
f;=25kPa

Silty Sand

10 m ;=100 kPa
1m L| Stiff Clay
qf = 2000 kPa
f, =100 kPa
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Q, = 0.4m(4x15+10x100+1x100) =1507.96 kN

Qp = 0.251B%x2000 =0.257(0.4)°x2000 =251.33 kN
Quit = Qs + Q, = 1759.29 kN

Q. = Qui /FS = 1759.29 /3 = 586.43 kN

Q. <800 kN sxaING
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